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There is a difference between them - B17A I79% 9IYA 1TA ROON
regarding a w2 to a Kohain Godol

OVERVIEW

The 7190 writes' regarding a D1X» that 7wWKY 7°7n X9Y; the DIX» must marry the JOK.
There is a dispute between 12077 AW (who interprets this P09 to mean that he
must pay her 0i1p only if she is a 77 72 ww AWK [that 72 OO PYITPR]), and "M
X011 12 Wnw (who maintains that the 109 requires that she should be an #WwX
Xn>p? 1K877). The Xy asked what is the practical difference between them
according to 22w ", if he maintains that 70910 WP X even by awy 21
(according to ¥"), since if it is not 7n*pP% X7 (for she is forbidden to him [even
by an 7wy]) she is not a 7 72 ww AwX. The X answered that there is a
difference in the case of a 771v2 to a 9173 17; where she is 7”5 77IR7 7R, since
she is not a 779102; however PY17°p are 091N since it is an 752 MW 1R 7wy, There is
a dispute between *"w1 and NM0IN as to the meaning of 2"75% 77wa.

- >n9913 XYY nYIva ‘o0 e

“"w4 explained that she was ®¥a1 in an unnatural manner before the 3"72 was DIX»
her; therefore she is still considered a 77102 regarding the laws of DiX», but she is 7M0OX to the
3"77> for she is not considered a 77102 regarding her permissibility to a 3"7.

nvoIn asks:
= (BYIN,03 97 MR 1NN HY NN P92 NN ITYIN 2299 9INM 2297 XNNYOT AYP)

And there is a difficulty with >"w"9, for this depends on a dispute between %'
X' in N2’ By Ra7 POD -
= 991 )19 NYPWI IN
Whether a 75772 Xow 72w21 is permitted to a 3''77> -
- 999919 NN NN 911 179 N9W INT NI 2299 9139135 1YY 1)
So the X713 should have said, ‘but according to »''2 who maintains that a 792
72770 XYW is A''mo% mws, what can we say’ is the difference between 32’077 Twnw and

n"awA (since it is 77 72 w2 and 7n»pY 1°187). The X123 should have asked this question -
=915 9INT NAYPY 2299 9INPT

"'v3,20 (X¥n) 027
? 72wa 7"72. The difficulty is, if he was DIX» a 72793 the whole w7 of 0akn does not apply; it applies only if one
was DINn a 72103
? It seems that *"w1 maintains that a 73772 X>w 723 is 3"715% 70K, therefore (even though 772 109N PYNTP, since it
is an 702 MW 1°RW 7wY), nevertheless she is not an An*P% IR AWK,
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Just as the X713 asked previously, ‘and according to ¥''% who maintains, etc. px
MX? 92172 77090 PYNTP what is the difference between them’,* the same question should be asked
according to n"1.

MooIN answers:”
= 99V 7299 N2*PY 229197 PNHN 13529 99N
And the ' answers that the s'X73 question from '3 was a proper question -
- %y39 NYAY NIDY 399 XINA NINY NIDIN 12 PYNY 539 0DIPINY 2415
In order to establish the view of »'"aw=, who was a later Xin, like ¥''9 who was
his 529, and maintained 1IX? °2°°112 70910 PYITP X -
= NYDIN )2 PYNY 229N NN 29 M9 N WM XY XN DaN
However in this case of 3"719% 175770 X5w 791v3, the X3 is not concerned if %"=

disagrees with %''3w9, since »"1 was not the *21 of »"2w", therefore we can say that »"2w"
agrees with 19X ' that a 79773 Xow 79W2 is 2"75% 770K and therefore there is a difference
between »n"aw" and *1°ni1 NYRY regarding a 2"13% (79770 KOW) 77w, since she is not T1MPY 7R
(for a 719717 KW 792 is A"70Y 771I0K) however 777 72 w° since it is an 223 MW WPRY WY,

mooIn offers an alternate explanation of 3"7137% A9w2:
- 7113 A9IN2 DINY 91 1992 NIN 9NNN NIIYAL 999919 XD NINT WD INIIN 1%

And the n'"9 explained that we are not discussing here a case where the 1"12
was DIX»n a woman who was (72772 X%Ww) m9w2i from another man (as °"vM
maintains), but rather we are discussing a case of a 3'"'71> who was 018% a regular

9IN3, but since he was 0IX» her so that now she is a 72wa -
- 519995 NN NAYUN K

Therefore she is not considered 7172p% 7R,

* 1t is evident from that question that the X3 expects there to be a difference between *3°ni1 Pwnw and n"2wA,
according to all views (even a minority view [like ¥"7]). It would therefore be appropriate that the & 13 should also
ask 17112 °Rn according to n"A.
> The answer is that the X3 does not mean that there needs to be an 1112 X2°X according to all views (even the
view of n"7), but rather that there should be an ™12 X2’} [even] according to ¥"1 as NoIN explains. See TIE
previous *X ;17 M0 footnote # 15.
% »"2w" maintains she has to be NPY IR AWK, Presumably n"awn agrees with ¥"9, who was his 27, that PwTp PR
1IRY 22712 1o so we need to understand what is the difference between n"2wA and *3»°ni ynw who maintains WX
77 72 ww which according to ¥ is seemingly the same as 1°p? 77X AWK,
7 This readily explains why there is a 03p 21°R, since she is a ‘regular’ 72n2.
8 The 1x*2 7wy of the DIX® was not PWITP aw®, therefore now when the 3"715 wants to be w7pn her (and marry her),
he is marrying a 72153, which is 770K to him. It seems that according to *"wn the requirement of 7WX? 77N RN
(meaning either 7171 72 @ or n>»pY 77RN) is referring to the status of the woman before the o1 (and therefore "wA
cannot agree to the n"1 "), however according to the n" the requirement of TWR? 710 X refers to the woman’s
status (even) after the 01X (so M¥Y N2 makes her 7117797 77OK).
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mooIn anticipates a difficulty:
= W NV ONI XY XD 198y NNNOMNI 1I8Y NN NN HY NINA 9INT 2) Uy 9N

And even though the Xn»"2 states in 122> %y 8277 p79,” a 172 should not marry
a woman who was forced by him or one who was seduced by him, but

nonetheless if he married her he may remain married to her. Therefore it seemingly
appears that 7Yy NOUR is 71n»PY IR, so again there is no difference between *3°ni NwnPw and
n"aw" (for according to both of them My Nk qualifies for TWR? 7N RDY) —

mooIn responds:
= NN 11 NN XY XY INNT NNMPY NN NIYWN XY XY XD NINNITT 1195 010 o1

Nevertheless, since initially he may not marry her, therefore she is not
considered 777%%p% 77987, since this prohibition of not marrying her (75rn5%) is a

71910 prohibition, so at this point when we are considering whether the 3"715 pays 0i1p we say she

is not an 71°°P% 7RI AWK, since now he is forbidden from marrying her -
- %) NW) DNT 23 Yy 9N

Even though that if he married he may remain married, this does not contradict
that the prohibition is 771077 10, for we find -
- W) RYI BN KW XY XY 11911 N2 90N 9193 290

The same thing regarding a y¥ n>my naa2 where the 71wn rules that the 3"75

should not marry them, but if he married them he may remain married -
- Zoann nomTa 1990 19 907 22 9y 9N

Even though that the prohibition for a 3712 to marry a 17212 or a ¥">1 is from the

770 as is evident there. This proves that there can be an 771n2% MoK to marry and 72¥°72
one is permitted to remain married.

mooin offers additional proof that ¥aXy nOIX is N"7n 7710K:
- 5172 17599 NINAYR V9 19 NN AYR NYNY 701 199 X239 201 *ann 9IRPT 1M

And furthermore, for the X972 states there, ‘829 challenged the view of the one
who maintains that a 79770 XYW 77Ww32 is A"70% 77I0K; it is written in the 77N
regarding the 0iXn, ‘and she shall be for a wife to him’; this is expounded to

% 3,01 Mn2.
' Generally in 77 laws we do not find a difference between 75mn2% and 72v°72 (if something is 75MN22 MoK it is
[usually] 723772 790K), and since here the rule is if he married ¥y n7w3 illegally he is permitted to remain married
to her, this would indicate that the prohibition to marry ¥y n?12 is not 7N 1, but only 13127172, MOOIN rejects this
notion. See ‘Thinking it over’.
X, 01 M.
2 We derive the Mox of a ¥"51m N2 to a 3"113 from the 2105 of (3°,8d [MMnK] NWP’W) np? 7791022 TR R
B x,01 nm.
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mean that the rule of 01p applies only to a wife who is fit for him, which excludes

the case of a widow to a 3''712; if the 3"70 was DIX» an 7Im9X he does not have to pay 01p,
since she is not fit to be his wife, for a 3"713 is forbidden to marry an 732%R. X217 continues with his

question -
- ¥n5ya nY 8T Y 71995 NINON DIYN NIIIN NI N9979a N1IIDIN 1T 999N

What is this case of a 3"172% 719X, which the 770 excludes, if he was 0187 her in
the normal manner, why is it necessary to teach us that he is w5 from 0P
because she is an 7732%R, you can derive that he would be Mo from 01p even if

she was not an 7117R, but because she is a 72 (from the onx of the 3"713),” so now she
is not an 17 IR WK -
- 5199197 11 19 79I0X 1KY NNIYAT YPYN

It is apparent from that X123 that a woman who a 3712 was 13, is forbidden to
him 99057 3.

119 “y9ra NY B 19229
However the n''9 did not explain this X723 in this manner as the 1" explained it.

SUMMARY

A"179% a9wa according to °"wN means that he was D1X» a woman who was
(previously) 719770 X?w 79921, According to the "9 the 2" was %312 a 770 79102
and she becomes 770K for him to marry her since now she is not a 79102.

THINKING IT OVER

How can we reconcile that n";1 there is no such rule that something is 771n5% 70K
and 725°72 M, and nevertheless we can maintain that Xy n9Ww32 (or ¥"m N7A12)
is 3"119% 770K, however if he married them he may continue to be married and there
is no Mox?"*

'* X231 there concludes, therefore we must say that he was 9912 the 197972 X9w 73X and the only reason she is 770K
A";197 is because she is an 719X, but not because she is a 70772 ®5w 79W3, so this contradicts the view that a 72w32
75772 K2 is 2"'712% 770K,
'3 If the Mo°X of ¥y NYWa is only 732771, how can X271 ask why is it necessary to disqualify her because she is an
TR, since we can disqualify her because she is a %%y n2Ww3; but the 719X is N1 770K and WYY N1 is only
112777, and the P09 of 7N 8?1 is in the 77N, so what is s'%27 question. Therefore we must conclude that ¥y n?1w2
is also n"nn 37797 70K,
16 See PIRW '01n that the 0" maintains that %Y n9W31 is 770K only 13277» (and 13127177 she cannot WRY 7770 &Y.
17 See footnote # 10.
' See m mx 7"10.
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